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FER) Venn diagram #lEx, HEEIHER K
P(L1|D)

JRB, SRR B R FE—RRREES. Kk, R RRKE

AIl, JRREERERRA, W1 Ly 8 Ly, BEEE, Dk
EAEFERTRRFEENRE, L. Bt KSR
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1y, Tifs

P(L;) =0.2

FHEEM 1 BRIKZER 0.05, A&

P(D|L1) = 3(0.05)(0.95)? = 0.135375
RS

P(L{)=1-P(L1)=1-02=0.8

H

P(D|L7) = 3(0.02)(0.98)? = 0.057624
HEHEHRNBRIEZREE 0.02.

AR BT,

P(D) = P(D|L1)P(L1)+ P(D|Ly)P(L1)
— (0.135375)(0.2) + (0.057624)(0.8)
0.0731742
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B2, RiE R KA,

P(D|L1)P(Ly)
P(D)

(0.135375)(0.2)

0.0731742
0.37

P(L1|D) =

P(FEROEPHAM 4 BREER)
—=1-P(L1|D) =1-0.37 = 0.63
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